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; Grey line: exponential fit Peak flux: 2.729+/- 0.603 c/s/cm? ;
= Black line: power law + gauss fit Fluence : 18.89+/- 4.08 c/cm? =
= Dashed line: power law o ) ' =
= Duration: 15.26+/- 4.97 s -
= Best fit model: 1. E
= Best fluence model: 1. =
- Best duration model: 1. -
AT AT ot
= 1” H‘ MHH | }WMJ i HMM }JM | |M } )H Ml UJWH“} HU[ JHM }HMHNH} | HH |H m HHMW H\
- HH MHMM MWHM MH”W M \‘\ MWHH w HH WH“ w M ‘HM WH | w ‘\ [“H }HE
i Exponential fit E
~  Expon.time: 4.97+/- 1.40s (chi?-red= 0.94) =
S ! I AL b ol s 3
= M #H***+*+ﬂ%ﬁﬂﬂ*ﬂﬂw *ﬁm+j*ﬂiﬁ*ﬁﬂﬂfﬁﬂﬂﬁ+++W***+*ﬁ+**ﬁﬂ**HWWWH**H*H#Hﬁﬂﬁwﬂ#*W %***ﬁH*HﬁﬂﬂwﬁﬂﬁﬁﬁWHH*H*H Mgl
= Power law fit E
= Power law index: -1.802+/- 0.381 (chi*-red= 0.95) =
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—  Power law fit plus Gaussian (st.dev.= 8.65+/- 2.38 s, fracgs= 0.69+/- 0.55) =
= Power law index: -3.072+/- 2.908 (chi’-red= 0.95) 3
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